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Passage
The flora and fauna of Cubbon Park captures our

attention more than anything else. But when you take
time to look closely at the statue, you will marvel at its
sheer grandeur. Sculpted by Sir Thomas Brock, the 11
feet high marble statue is larger than life. It brings out
the personality of Queen Victoria, who had been the
Monarch of Great Britain from 1837 till 1901, depicting a
rather proud, stern person with pronounced features.
In 1906, the statue was unveiled in the city by George
Frederick Ernest Albert, Prince of Wales and Duke of
Cornwall and York, making it stand in all its glory in its
111th year. Even though there is a wealth of history to
the statue, and it was made to appear imposing, the
busy Bengalureans would probably refer to it as just
another landmark. As the workers are busy in
discussion on the instructions given to them, life

continues as usual in the Park.

1. Queen Victoria ruled Great Britain for how many

years?

(a) 64 years (b) 34 years

(c) 54 years (d) 44 years

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ «esš efyeÇšsve keâer
cenejeveer jeveer efJekeäšesefjÙee ves efyeÇšsve hej 64 Je<eeX (1837-1901)

lekeâ Meemeve efkeâÙee~ Dele: efJekeâuhe (a) '64 years' mener Gòej nw~

2. How many people unveiled the Queen Victoria

statue at Cubbon Park?

(a) One (b) Six

(c) Four (d) Two

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Cubbon Park ceW
efmLele Queen Victoria keâer Øeeflecee (statue) keâe DeveeJejCe
(unveil) kesâJeue Skeâ (One) JÙeefòeâ 'George Frederick Ernest

Albert' ves efkeâÙee pees Wales keâe Prince SJeb Cornwall Deewj
York keâe Duke (Prince of Wales and Duke of Cornwall

and York) Lee~ ÙeÅeefhe efkeâ keâce&Ûeejer ÛeÙeve DeeÙeesie (SSC) ves
Fme ØeMve keâe mener Gòej efJekeâuhe (d) Ùeeefve 'Two' keâes ceevee nw~
hejbleg efJe<eÙe-efJeMes<e%eeW kesâ ienve DeOÙeÙeve kesâ Ghejeble efJekeâuhe (a)

Ùeeefve 'One' mener Gòej kesâ ™he ceW DeYeer° nw~ Jele&ceeve ceW

keâce&Ûeejer ÛeÙeve DeeÙeesie (SSC) ves Yeer Deheves hegvejeref#ele DeLeJee
mebMeesefOele (revised) Gòej-he$ekeâ ceW efJekeâuhe (a) 'One' keâes ner
mener Gòej ceeve efueÙee nw~

3. The Bengalureans would refer to the Queen

Victoria statue as ___________.

(a) wealth of history

(b) a landmark

(c) symbol of British Rule

(d) Bengaluru culture

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ yebieueg™ efveJeemeer
(Bengalureans) Queen Victoria keâer Øeeflecee (statue) keâes
Skeâ Ùegieeblekeâejer Iešvee DeLeJee Skeâ Ssefleneefmekeâ mLeue (a land-

mark) ceeveles nQ~ Dele: efJekeâuhe (b) mener Gòej nw~

4. Queen Victoria had all of the following traits,

except _____________.

(a) proud (b) generous

(c) stern (d) pronounced features

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Queen Victoria

mJeYeeJeleÙee Goej (generous) nesves kesâ yepeeÙe DeefYeceeveer, ce]ie™j,
keâ"esj SJeb meKle LeeR~ Dele: efJekeâuhe (b) 'generous' (Goej)
mener Gòej nw~

5. Which of the following is false regarding the

Queen Victoria statue in Bengaluru?

(a) It is made of marble

(b) It is 11 feet tall

(c) It is 111 years old

(d) It is standing in Queen Victoria Park

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ yebieueg™ efmLele
Queen Victoria Statue kesâ meobYe& ceW efJekeâuhe (d) ceW JeefCe&le
keâLeve 'It is standing in Queen Victoria Park' DemelÙe
(false) nw~ The statue of Queen Victoria, Bengaluru,

is located at Queen's Park, next to Cubbon Park,

Bengaluru cantonment. melÙe (true) keâLeve nw~

Comprehension
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Passage
Manja, or the glass-coated string used for flying

kites, not only poses threat to humans, animals and

birds but also to trees. A study by the country's oldest

botanical garden has revealed that it poses a great

threat to trees. But how can a snapped string struck in a

tree kill the tree? Apparently, it does so by allying with

the creepers in the garden.

A research paper by three scientists of the Acharya

Jagdish Chandra Bose Indian Botanic Garden, located

in West Bengal's Howrah district,  illustrates in detail

how the manja, in collusion with climbers, does the

damage. "The abandoned, torn kite strings act as an

excellent primary supporting platform for the tender

climbers, giving easy passage to reach the top of the

trees. Lateral branches from the top of the climber and

other accessory branches from the ground reaches the

top taking support of the first climber, completely

covers. The treetop, thus inhibiting the penetration of

sunlight," says the research paper.

1. Abandoned torn kite strings stuck in trees

benefits whom?

(a) Humans (b) Creepers

(c) Birds (d) Trees

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Je=#eeW ceW hebâmes ngS helebie
kesâ OeeieeW (strings-manja) kesâ menejs yesueW DeLeJee ueleeSb (creep-

ers) Je=#e keâer TbÛeer-TbÛeer MeeKeeDeeW lekeâ hengbÛe peeleer nQ~ Fme
Øekeâej Fve Je=#eeW ceW hebâmes ngS heâšer ngF& helebie kesâ Oeeies (strings)

ueleeDeeW (creepers) keâes ueeYeeefvJele keâjles nQ~ Dele: efJekeâuhe (b)

'Creepers' (ueleeSb) mener Gòej nw~

2. How many scientists contributed to a study by

country's oldest botanical gardens on how manja

can kill a tree?

(a) Two (b) Three

(c) Five (d) Four

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nww efkeâ osMe (Yeejle) kesâ
meJee&efOekeâ ØeeÛeerve Jevemheefle GÅeeve (botanical garden) Éeje
‘ceebPee efkeâme Øekeâej Skeâ Je=#e keâes ve° keâj mekeâlee nw’ efJe<eÙe hej
efkeâS ieS DevegmebOeeve keâeÙeeX ceW DeeÛeeÙe& peieoerMe Ûebõ yeesme YeejleerÙe
Jevemheefle GÅeeve kesâ leerve Jew%eeefvekeâeW ves Dehevee Ùeesieoeve (contri-

bution) efoÙee nw~ Dele: efJekeâuhe (b) 'Three' mener Gòej nw~

3. How can a tree be killed by a creeper?

(a) By blocking its access to sunlight

(b) By wrapping its tentacles around its branches

(c) By sucking away the nutrients

(d) By secreting toxic chemicals

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Je=#e keâer heeMJe& kesâ Meer<e&
leLee Yetefce mes Meer<e& keâer Deesj Deeves Jeeueer ØeLece ueleeDeeW kesâ menejs
Meer<e& hej Deeves Jeeueer DevÙe meneÙekeâ MeeKeeSb Je=#eMeer<e& (treetop)

keâes DeeJe=le (cover) keâj osleer nwb efpememes Je=#eMeer<e& hej heÌ[ves Jeeuee
metÙe& keâe ØekeâeMe (sunlight) DeJe®æ nes peelee nw Deewj Ùes Je=#e
metÙe& kesâ ØekeâeMe (sunlight) keâer DevegheefmLeefle ceW Dehevee Yeespeve
veneR yevee heeles nQ efpememes Fvekeâer ce=lÙeg nes peeleer nw~ Dele: efJekeâuhe
(a) 'By blocking its access to sunlight' mener Gòej nw~

4. What would be the acronym for India's oldest

botanical garden?

(a) AJCBIBG (b) AJCBBGI

(c) AJBCIBG (d) AJBCBGI

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Yeejle keâs ØeeÛeervelece
Jevemheefle GÅeeve (oldest botanical garden) kesâ ™he ceW uesKeebMe
ceW JeefCe&le 'Acharya Jagdish Chandra Bose Indian

Botanic Garden' keâe DeeefoJeefCe&keâ DeLeJee heefjJeCeea Meyo Ùeeefve
'Acronym' nesiee- 'AJCBIBG' (Acharya Jagdish

Chandra Bose Indian Botanic Garden) Dele: efJekeâuhe
(a) 'AJCBIBG' mener Gòej nw~

5. What gives easy passage to 'climbers' to top of the

trees?

(a) Creepers

(b) Torn kites

(c) Lateral branches

(d) Manja

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Yeejle kesâ ØeeÛeervelece
Jevemheefle GÅeeve kesâ leerve Øeefleef‰le Jew%eeefvekeâebs Éeje ‘ceebPee’ hej
efkeâS ieS DevegmebOeeve keâeÙeeX mes Ùen leLÙe ØeceeefCele neslee nw efkeâ
‘ceebPee’ (Manja) ner Jen ceeOÙece nw pees Je=#eeW ceW helebieeW kesâ meeLe
GuePeves hej ‘Je=#eMeer<e&’ (Top of the trees) hej ueleeDeeW (Climb-

ers) keâes hengbÛeves kesâ efueS ‘megiece ceeie&’ (Easy passage) Øeoeve

keâjlee nw~ Dele: efJekeâuhe (d) 'Manja' mener Gòej nw~
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Passage
Genetic variation is the cornerstone of evolution,

without which there can be no natural selection, and so

a low genetic diversity decreases the ability of a

species to survive and reproduce, explains lead author

Yoshan Moodley, Professor at the Department of

Zoology, University of Venda in South Africa.

Two centuries ago, the black rhinoceros – which

roamed much of sub Saharan Africa – had 64 different

genetic lineages; but today only 20 of these lineages

remain, says the paper. The species is now restricted to

five countries, South Africa, Namibia, Kenya,

Zimbabwe and Tanzania. Genetically unique

populations that once existed in Nigeria, Cameroon,

Chad, Eritrea, Ethiopia, Somalia, Mozambique, Malawi

and Angola have disappeared. The origins of the

'genetic erosion' coincided with colonial rule in Africa

and the popularity of big game hunting. From the

second half of the 20th century, however, poaching for

horns has dramatically depleted their population and

genetic diversity, especially in Kenya and Tanzania.

1. What is important for evolution?

(a) Genetic variation

(b) Large population

(c) Mixing of species

(d) Survival of the fittest

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ efJekeâeme DeLeJee ›eâefcekeâ
efJekeâeme (Evolution) kesâ efueS DeevegJeebefMekeâ ™heeblejCe (efJeefYevvelee,
heefjJele&ve, efJeefJeOelee) 'Genetic Variation' Skeâ cenlJehetCe&
DeeOeejefMeuee (Corner-stone) nw~ Dele: efJekeâuhe (a) 'Genetic

Variation' mener Gòej nw~

2. Sub Saharan Africa has lost how many black rhino

genetic lineages in 200 years?

(a) 64 (b) 20

(c) 44 (d) 30

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ oef#eCe Deøeâerkeâe efmLele
Jesb[e efJeMJeefJeÅeeueÙe kesâ pebleg efJe%eeve efJeYeeie kesâ ØeeOÙeehekeâ  (Øeeshesâmej)
uesKekeâ kesâ DevegmebOeeve mes %eele neslee nw efkeâ Deøeâerkeâe kesâ meye-
meneje #es$e ceW 200 Je<eeX kesâ oewjeve keâeues ieQ[eW (Black Rhinoc-

eros) keâer 64 efYevve-efYevve DeevegJeebefMekeâ ØepeeefleÙeeb efJeÅeceeve LeeR
hejbleg Jele&ceeve ceW Fvekeâer Mes<e mebKÙee 20 nw DeLee&le Fve 200 Je<eeX ceW
44 keâeues ieQ[eW keâer ØepeeefleÙeeb efJeueghle nes Ûegkeâer nwb~ Dele: efJekeâuhe

(c) '44' ieQ[eW keâer ØepeeefleÙeeb mener Gòej nw~

3. Genetically unique black rhinoceros has been lost

in all of the following countries, except?

(a) Tanzania (b) Nigeria

(c) Chad (d) Malawi

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ DeevegJeebefMekeâ ™he mes
Fve efJeefMe° keâeues ieQ[eW keâer Deeyeeoer pees keâYeer Ùee efkeâmeer meceÙe

veeF]peerefjÙee, kewâce™ve, Ûee[, FjerefšÙ̂ee, FefLeÙeesefheÙee, meesceeefueÙee,
cees]peeefcyekeâ, ceueeJeer SJeb Debieesuee ceW heeF& peeleer Leer, Jele&ceeve ceW
efJeueghle nes Ûegkeâer nbw~ Jele&ceeve ceW Fvekeâer mebKÙee (20) efmeceškeâj
heebÛe osMeeW ÙeLee - oef#eCe Deøeâerkeâe, veeceerefyeÙee, kesâvÙee, efpecyeeyJes
Deewj lebpeeefveÙee lekeâ meerefcele nes ieF& nwb~ Dele: efJekeâuhe (a) 'Tan-

zania' mener Gòej nw~

4. From the second  half of the 20th century what has

caused a dramatic fall in black rhinoceros

population?

(a) poaching

(b) colonical rule

(c) big game hunting

(d) fall in genetic diversity

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ yeermeJeeR Meleeyoer kesâ
Gòejeæ& mes keâeues ieQ[eW keâer pevemebKÙee Ùee Deeyeeoer (Popula-

tion) (Genetic Diversity SJeb  DeevegJeebefMekeâ efJeefJeOelee) ceW Deeves
Jeeueer efiejeJeš DeLeJee keâceer keâe cegKÙe keâejCe Lee ‘Gvekeâer (ieQ[eW
keâer) meeRieesW (horns) kesâ efueS Gvekeâe DeJewOe efMekeâej (Poach-

ing) keâjvee’~ Dele: efJekeâuhe (a) 'poaching' mener Gòej nw~

5. Genetic diversity is proportional to _________.

(a) species population

(b) the ability of a species to survive and

reproduce

(c) inbreeding

(d) extinction

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ DeevegJeebefMekeâ efJeefJeOelee,
(Genetic Diversity) efkeâmeer Yeer peerJe Øepeeefle keâer GòejpeerefJelee
Ùeeefve ‘DeefmlelJe ceW yeves jnvee’ SJeb mebleeveeslheefòe kesâ meceevegheeeflekeâ
nesleer nw~ Dele: efjòeâ mLeeve ceW efJekeâuhe (b) 'the ability of a

species to survive and reproduce' mener Gòej nw~
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Passage
For most people, music is an important part of daily

life. Some rely on music to get them through the

morning commute, while others turn up a favorite

playlist to stay pumped during a workout. Many folks

even have the stereo on when they're cooking a meal,

taking a shower, or folding the laundry. Music is often

linked to  mood. A certain song can make us feel happy,

sad, energetic, or relaxed. Because music can have such

an impact on a person's mindset and well-being, it

should come as no surprise that music therapy has

been studied for use in managing numerous medical

conditions. All forms of music may have therapeutic

effects,  although music from one's own culture may be

most effective. In Chinese medical theory, the five

internal organs and meridian systems are believed to

have corresponding musical tones, which are used to

encourage healing.

1. Music is often linked to ________________.

(a) anger (b) mood

(c) anxiety (d) happiness

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ mebieerle (music) ØeeÙe:
ceveesoMee Je efÛeòeJe=efòe (mood) mes mebyebefOele neslee nw~ Dele: efJekeâuhe
(b) 'mood' mener Gòej nw~

2. How is music an important part of life?

(a) It makes us feel different emotions

(b) It makes us sad

(c) It helps in our daily activities

(d) It helps us in remembering things

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ owefvekeâ peerJeve (daily

life) ceW mebieerle (music) FmeefueS cenlJehetCe& nw keäÙeeWefkeâ Ùen nceW
efYevve-efYevve mebJesoveeDeeW (emotions) ÙeLee - GuueemehetCe& (happy),
ogKeo (sad), Tpee&Ùegòeâ (energetic) DeLeJee Deejeceosn, leveeJecegòeâ
(relaxed) efmLeefleÙeeW DevegYetefle (feel) keâjeleer nw~ Dele: efJekeâuhe (a)

'It makes us feel different emotions' mener Gòej nw~

3. Which of the statements is true?

(a) All forms of music may heal wounds.

(b) All forms of music may have good effect.

(c) All forms of music may be soothing.

(d) All forms of music may have therapeutic

effects.

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ heefjÛÚso ceW JeefCe&le keâLeve
'All forms of music may have therapeutic effects' Skeâ
melÙe (true) keâLeve (statement) nw~ Dele: efJekeâuhe (d) mener
Gòej nw~

4. How can music be used as a therapy?
(a) It can help us to manage our day to day

activities.
(b) It can help us in managing numerous medical

conditions.
(c) It can help us manage our life.
(d) It can help us manage our careers.

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ GheÛeej DeLeJee efÛeefkeâlmee
(therapy) kesâ ™he ceW mebieerle (music) keâe GheÙeesie (use) efJeefYevve
efÛeefkeâlmeerÙe efmLeefleÙeeW (medical conditions) kesâ ØeyebOeve DeLeJee
osKejsKe ceW meneÙekeâ nes mekeâlee nw~ Dele: efJekeâuhe (b) 'It can help

us in managing numerous medical conditions' mener
Gòej nw~

5. In Chinese medical theory, the five internal organs
and meridian systems ___________________.
(a) are believed to have musical chords
(b) are believed to have no musical tones
(c) are believed to have same musical tones
(d) are believed to have corresponding musical

tones

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Ûeerveer efÛeefkeâlmee efmeæeble
(Chinese medical theory) ceW ceevee peelee nw efkeâ heebÛe Deebleefjkeâ
DebieeW (five internal organs) SJeb ceere fjef[Ùeve efmemšce
(meridian system) ceW mece™he Ùee meceeve mebieerle mJej heeS
peeles nQ~ Dele: efjòeâ mLeeve ceW mener Gòej kesâ ™he ceW efJekeâuhe (d)

'are believed to have corresponding musical tones'

keâe ØeÙeesie GefÛele nw~

Passage
Approximately half of India's 1.2 billion people are

under the age of 26, and by 2020 we are forecasted to be
the youngest country in the world, with a median age of
29 years. With this tremendous forecast, it becomes
imperative to ensure an environment which promotes
positive well-being. Unfortunately, India has the
highest suicide rate in the world among the youth
standing at 35.5 per 100,000 people for 2012. The reason
for such high numbers can be attributed to lack of
economic, social, and emotional resources. More
specifically, academic pressure, workplace stress,
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social pressures, modernisation of urban centers,
relationship concerns, and the breakdown of support
systems. Some researchers have attributed the rise of
youth suicide to urbanisation and the breakdown of the
traditional large family support system. The clash of
values within families is an important factor. As young
Indians become more progressive, their traditionalist
households become less supportive of their choices
pertaining to financial independence, marriage age,
premarital sex, rehabilitation and taking care of the
elderly.
1. Approximately half of India's 1.2 billion people

are under the age of ___________.
(a) 30 (b) 26
(c) 22 (d) 18

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Yeejle keâer ueieYeie 1.2

Dejye (billion) pevemebKÙee Ùee Deeyeeoer 26 Je<e& keâer DeJemLee kesâ veerÛes
keâer nw~ Dele: efjòeâ mLeeve ceW mener Gòej efJekeâuhe (b) '26' keâe ØeÙeesie
GefÛele nw~

2. What are the reasons for high number of suicide
rates among the youth in India?
(a) lack of monetary help by the government
(b) lack of healthy foods
(c) lack of economic, social and emotional

resources
(d) lack of good roads and transports

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Yeejle ceW Øeefle 100,000

ueesieeW hej 35.5 ÙegJee DeeefLe&keâ, meeceeefpekeâ SJeb YeeJeØeOeeve œeesleeW keâer
keâceer DeLeJee DeYeeJe (lack) kesâ keâejCe DeelcenlÙee keâj uesles nQ~ Fme
Øekeâej DeelcenlÙee (suicide) oj (rate) DeefOekeâ nesleer nw~ Dele:
efJekeâuhe (c) 'lack of economic, social and emotional

resources' mener Gòej nw~

3. By which year India will become the youngest

country in the world?

(a) 2017 (b) 2030

(c) 2019 (d) 2020

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Je<e& 2020 lekeâ Yeejle
meyemes ÙegJee osMe (the youngest country) yeve peeSiee~ Dele:
efJekeâuhe (d) '2020' mener Gòej nw~

4. The _______________ within families is an

important factor.

(a) clash of values (b) clash of resources

(c) clash of power (d) clash of thinking

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ heefjJeejeW (families) kesâ
ceOÙe cetuÙeeW DeLeJee DeeoMeeX keâe škeâjeJe Ùee DemeecebpemÙe (clash of

values) Skeâ cenlJehetCe& keâejkeâ (factor) nw~ Dele: efjòeâ mLeeve ceW
mener Gòej efJekeâuhe (a) 'clash of values' keâe ØeÙeesie GefÛele nw~

5. How can we prevent youth from committing
suicide?
(a) by making families progressive
(b) by creating an environment which promotes

good behaviour
(c) by creating an environment which promotes

positive well being
(d) by creating career opportunities

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ nceW Ssmes JeeleeJejCe keâe
efvecee&Ce keâjvee ÛeeefnS pees mekeâejelcekeâ (positive) YeueeF& Ùee
keâuÙeeCe keâes Øeeslmeeefnle (promote) keâjs efpememes YeejleerÙe ÙegJee Jeie&
(youth) keâes DeelcenlÙee (suicide) keâjves mes jeskeâe (prevent)

pee mekesâ~ Dele: efJekeâuhe (c) 'by creating an environment

which promotes positive well being' keâe ØeÙeesie GefÛele nw~

Passage
He was a vendor of sweets. He had his own

peculiar method of advertising and doing business. He
never depended upon others for help and worked hard
all alone. I speak of Murali-the man who sold sweets.
His customers were children, the future citizens of the
world. At the stroke of nine in the morning, Murali
would stand in front of the school with his tray of
sweets. Till about eleven, the sale would be brisk. After
that he moved off to other places. Even when the
sweets became sticky in the heat, his business never
slackened. There was depression in his business when
the holidays came.
1. Who was Murali?

(a) a businessman (b) a vendor of sweets
(c) a job seeker (d) a student

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ cegjueer (Murali) Skeâ
efce"eF& efJe›esâlee (a vendor of sweets) Lee~ Dele: efJekeâuhe (b) ' a
vendor of sweets' mener Gòej nw~

2. Who were his customers?
(a) the children (b) the adults
(c) the office goers (d) the housewives

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ cegjueer keâer efce"eFÙeeW
(sweets) kesâ Kejerooej Ùee «eenkeâ (customers) yeÛÛes (the

children) Les~ Dele: efJekeâuhe (a) 'the children' mener Gòej nw~
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3. What time would he go to the school?
(a) at 10 in the morning (b) at 8 in the morning
(c) at 3 in the afternoon(d) at 9 in the morning

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ megyen 9 yepes efce"eF&
efJe›esâlee cegjueer (Murali) Deheveer efce"eFÙeeW keâer leMlejer kesâ meeLe
mketâue kesâ meeceves KeÌ[e nes peelee Lee~ Dele: efJekeâuhe (d) 'at 9 in the

morning' mener Gòej nw~

4. Till about eleven, the sale would be __________.
(a) high (b) worse
(c) brisk (d) low

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ 11 yepes kesâ ueieYeie
cegjueer keâer efce"eFÙeeW keâer efye›eâer (sale) ceW lespeer (brisk) Dee peeleer
Leer~ Dele: efJekeâuhe (c) 'brisk' (lespeer, lespe) mener Gòej nw~

5. When did the depression come in his business?
(a) after the holidays
(b) when the holidays came
(c) he was found cheating
(d) None of these

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ peye mketâue keâer ÚgefóÙeeb
(holidays) ØeejbYe nes peeleer LeeR, leye cegjueer kesâ efce"eF& JÙeJemeeÙe ceW
ceboer DeLeJee vÙetvelee (depression) Dee peeleer Leer~ Dele: efJekeâuhe
(b) mener Gòej nw~

Passage
Ruskin Bond is an Indian author of British descent.

India's most adored writer Ruskin Bond, was born in
Kasauli. Bond spent his early childhood in Jamnagar
and Shimla. At the age of ten, Ruskin went to live at his
grandmother's house in Dehradun after his father's
death that year from jaundice. Ruskin was raised by his
mother and stepfather. He did his schooling from
Bishop Cotton School in Shimla, from where he
graduated in 1950 after winning several writing
competitions in the school including the Irwin Divinity
Prize and the Hailey Literature Prize. He wrote one of his
first short stories, "Untouchable", at the age of sixteen
in 1951. He moved to London and worked in a photo
studio while searching for a publisher. After getting it
published, Bond used the advance money to pay the
sea passage to Bombay and settle in Dehradun. Since
1963 he has lived as a freelance writer in Mussorie, a
town in the Himalayan foothills in Uttarakhand and
lives with his adoptive family in Landour, Mussorie's
Ivy Cottage, which has been his house since 1980.
About what he likes the most about his life, he said,

"That I have been able to write for so long. I started at

the age of 16 or 17 and I am still writing. If I were not a

professional writer who was getting published I would

still write." In his essay, "On being an Indian", he

explains his Indian identity, "Race did not make me one.

Religion did not make me one. But history did. And in

the long run, it's history that counts."

1. Ruskin Bond __________.

(a) is a British Author

(b) was born in Jamnagar

(c) is an Indian because he was born in India

(d) has won several prizes for his contribution

towards literature

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ jefmkeâve yeeb[ ves efMe#ee
«enCe keâjves kesâ oewjeve efJeefYevve efJeÅeeueÙemlejerÙe uesKeve ØeefleÙeesefieleeSb
efpeveceW Irwin Divinity Prize leLee Hailey Literature Prize

Yeer meefcceefuele nwb, cebs efJepeÙe Øeehle keâer~ Dele: efjòeâ mLeeve ceW efJekeâuhe
(d) 'has won several prizes for his contribution towards

literature' keâe ØeÙeesie GefÛele nw~ Dele: efJekeâuhe (d) mener Gòej nw~

2. In 1980, Ruskin Bond settled in Mussorie, what

do you think was his age by then?

(a) 29

(b) 39

(c) 45

(d) Cannot be determined, on the basis of

information given in the passage

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ jefmkeâve yeeb[ efpeme meceÙe
cemetjer (Mussorie) ceW yemeves (settle) kesâ efueS DeeS Ùee cemetjer ceW
yemes Gme meceÙe Gvekeâer DeJemLee (DeeÙeg) 45 Je<e& Leer~ Dele: efJekeâuhe
(c) '45' mener Gòej nw~

3. According to Ruskin Bond, why is he an Indian?

(a) Because his parents have always lived in India.

(b) Because he has a history with India.

(c) Because he owns a house in India.

(d) Because he was raised by his step-father, an

Indian Hindu.

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ GvneWves (Bond ves)
mJeefueefKele efveyebOe (Essay) "On being an Indian" ceW Deheveer
YeejleerÙe henÛeeve (Indian Identity) keâe JeCe&ve efkeâÙee nw efkeâ
DeeefKejkeâej Jen Skeâ YeejleerÙe keäÙeeW nQ~ Gvekeâe Yeejle kesâ meeLe Skeâ
Fefleneme jne nw~ GvneWves efveyebOe ceW Deeies JeCe&ve efkeâÙee nw efkeâ "Race

did not make me one. Religion did not make me one.

But history did. And in the long run (DebleleesielJee), it's

history that counts." Dele: efJekeâuhe (b) 'Because he has a

history with India' mener Gòej nw~
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4. What did Bond do with his first advance payment?
(a) He flew to his dream destination.
(b) He bought a house Ivy Cottage in Mussorie.
(c) He went back to India from London.
(d) He started working for children's literature.

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ jefmkeâve yeeb[ Deheveer
mebef#ehle keâneveer (Short Story) "Untouchable" kesâ uesKeve kesâ
heMÛeele uebove Ûeues ieS Deewj Jeneb Deheveer Fme mebef#ehle keâneveer kesâ
ØekeâeMekeâ (publisher) keâer Keespe kesâ oewjeve GvneWves Skeâ heâesšes
mštef[Ùees ceW keâeÙe& efkeâÙee~ Fme keâneveer kesâ ØekeâeMeve mes pees Deef«ece
(advance) OevejeefMe Øeehle ngF& Gmemes Jen mecegõ ceeie& (sea

passage) mes yecyeF& (Bombay) DeeS lelheMÛeele osnjeotve peekeâj
yeme (settle) ieS~ Dele: GvneWves Fme Deef«ece OevejeefMe keâe GheÙeesie
uebove mes yecyeF& (Bombay) SJeb osnjeotve Deeles meceÙe ceeie& JÙeÙe
(fare) kesâ ™he ceW efkeâÙee~ Dele: efJekeâuhe (c) 'He went back to

India from London' mener Gòej nw~

5. Why is Ruskin Bond happy about his life?
(a) Because he has finally settled in India.
(b) Because has adopted a family and it is very

loving.
(c) Because he is successful.
(d) Because he has been able to write for so long.

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ jefmkeâve yeeb[ keâes Deheves
peerJeve kesâ yeejs ceW meyemes DeefOekeâ hemebo Lee efkeâ Jen uesKeve ceW ÙeesiÙe nbw~
heefjÛÚso ceW JeCe&ve efkeâÙee ieÙee nw efkeâ - 'About what he likes

the most about his life, he said, "That I have been
able to write for so long. I started at the age of 16 or 17

and I am still writing. Ùeeefve yeeb[ Fme yeele keâes ueskeâj Øemevve nQ
efkeâ Gvekeâer 16 Ùee 17 Je<e& keâer DeJemLee ceW uesKeve ceW ®efÛe lees Leer ner
Deefheleg Jele&ceeve ceW Yeer nw~ Dele: efJekeâuhe (d) 'Because he has

been able to write for so long' mener Gòej nw~

Passage
History plays a key role in helping the current

generation to know where they came from. It also helps
us understand the transformation that the society has
gone through. We all know that change is a constant
thing that takes place every now and then. History
plays a very crucial role when it comes to making
comparisons. For example, historians help us
understand why small things may lead to big disasters.
The best example being the causes of the first and
second world wars. The current generation tends to
gain more information about their past culture. By
knowing your culture, you are placed at a better

position to preserving it. History is  such an important

subject and plays a very vital role when it comes to

shaping our society. History is the study of past

events. We refer to the past when comparing it with the

present times and deduce the changes that have taken

place. This is the easiest way to make comparisons on

timely basis.

1. Why is history such an important subject to study?

(a) History plays a crucial role when it comes to

making comparisons.

(b) History helps us preserve humans.

(c) History helps to understand our current

generation.

(d) History can prevent diseases.

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Skeâ efJe<eÙe (subject)

kesâ ™he ceW Fefleneme (history) leguevee keâjves ceW (making

comparisons) DelÙeble cenlJehetCe& Yetefcekeâe (crucial role) efveYeelee
nw, FmeefueS Fmes Skeâ cenlJehetCe& (important) efJe<eÙe ceevee peelee
nw~ Dele: efJekeâuhe (a) 'History plays a crucial role when it

comes to making comparisons' mener Gòej nw~

2. How is history beneficial to the current

generation?

(a) It helps them to know about world wars.

(b) It helps them to know where they came from.

(c) It helps them to know the mistakes of their

ancestors.

(d) It helps them to create opportunities.

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Fefleneme (history)

Jele&ceeve heerÌ{er (current generation) keâes Gvekeâer Glheefòe (origin)

kesâ yeejs ceW peevekeâejer Øeehle keâjves ceW Skeâ meneÙekeâ keâer Yetefcekeâe
efveYeelee nw~ Dele: efJekeâuhe (b) 'It helps them to know where

they came from' mener Gòej nw~

3. History is the study of ___________ events.

(a) future (b) present

(c) new (d) past

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Fefleneme efJe<eÙe kesâ
Debleie&le Yetlekeâeue (past) keâer IešveeDeeW (events) keâe DeOÙeÙeve
(study) efkeâÙee peelee nw~ Dele: efJekeâuhe (d) 'past' mener Gòej nw
leLee efjòeâ mLeeve ceW Fmekeâe ØeÙeesie GefÛele nw~

4. What is the role of historians?

(a) to help us understand why small things lead to

big disaster.

(b) to study future disasters.

(c) to acknowledge the mistakes of the past.
(d) to study wars of different periods.

Gòej (a)
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uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ ‘keäÙeeW Úesšer-Úesšer
IešveeSb Ùee ÛeerpeW yeÌ[er-yeÌ[er IešveeDeeW Ùee DeeheoeDeeW (disasters)

keâes pevce osleer nQ, Ùen mecePeves ceW Feflenemekeâej (historians)

nceejer meneÙelee keâjles nQ~ Dele: efJekeâuhe (a) 'to help us

understand why small things lead to big disaster' mener
Gòej nw~

5. Which of the statement is true?
(a) by knowing our culture, we can understand

other cultures also.
(b) by knowing our culture, we can add more to it.
(c) by knowing our culture, we can better preserve

it.
(d) by knowing our culture, we can understand

our country.

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ keâLeve (statement)

'by knowing our culture, we can better preserve it' (Ùeeefve
‘Deheveer mebmke=âefle kesâ yeejs ceW peevekeâejer nesves hej nce Fmekeâer mebj#ee
YeueerYeebefle keâj mekeâles nQ~) melÙe (true) nw~ Dele: efJekeâuhe (c) mener
Gòej nw~

Passage
Is my yellow the same as your yellow? Does your

pain feel like my pain? The question of whether the
human consciousness is subjective or objective is
largely philosophical. But the line between
consciousness and unconsciousness is a bit easier to
measure. A research suggests that our experience of
reality is the product of  a delicate balance of
connectivity between neurons – too much or too little
and the consciousness slips away. "It's a very nice
study," says neuroscientist Melanie Boly at the
University of Wisconsin, Madison, who was not
involved in the work. "The conclusions that they draw
are justified." Previous studies of the brain have
revealed the importance of "cortical integration" in
maintaining consciousness, meaning that the brain
must process and combine multiple inputs from
different senses at once. Our experience of an orange,
for example, is made up of sight, smell, taste, touch, and
the recollection of our previous experiences with the
fruit. The brain merges all of these inputs - photons,
aromatic molecules, etc. - into our subjective experience
of the object in that moment.
1. Our experience of reality is the product of

______________.
(a) a delicate balance of connectivity between both

hands.
(b) a delicate balance of connectivity between right

hemisphere and left hemisphere.

(c) a delicate balance of connectivity between

neurons.

(d) a delicate balance of connectivity between

consciousness and subsconsciousness.

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ JeemleefJekeâlee (reality)

keâer DevegYetefle (experience) mveeÙegDeeW (neurons) kesâ ceOÙe
mebÙeespekeâlee (connectivity) kesâ met#ce meblegueve (delicate

balance) keâe heefjCeece (product) nw~ Dele: efJekeâuhe (c) 'a

delicate balance of connectivity between neurons' keâe
ØeÙeesie efjòeâ mLeeve ceW GefÛele nw~

2. How our subjective experience of an object forms?

(a) with the help of sensation.

(b) the recollection of previous experiences with

the help of sensory inputs.

(c) with the help of our eyesight only.

(d) the recollection of experience as dictated by

other person.

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ efkeâmeer Jemleg (object)

kesâ yeejs ceW nceejer Ûeslevee-mebyebOeer DevegYetefle Ùee Deelcehejkeâ DevegYetefle
(subjective experience) keâe efvecee&Ce mebJesoer DeeieleeW (sensory

inputs) keâer meneÙelee mes SJeb hetJe& keâer DevegYetefleÙeeW (experiences)

kesâ DevegmcejCe Ùee mce=efle (recollection) kesâ Éeje neslee nw~ Dele:
efJekeâuhe (b) 'the recollection of previous experiences

with the help of sensory inputs' mener Gòej nw~

3. What is "cortical integration"?

(a) the process of mixing subconscious and

conscious.

(b) the process of combining multiples inputs of

senses at different time.

(c) the process of combining one input from

different senses at once.

(d) the process of combining multiple inputs from

different senses at once.

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ ‘JeukegâšerÙe SkeâerkeâjCe Ùee
meceskeâve’ ("cortical integration") keâe leelheÙe& nw- ‘‘Skeâ meeLe
efJeefYevve FbefõÙeeW mes efJeefJeOe DeeieleeW (multiple inputs) keâes mebÙeesefpele
(combine) keâjves keâer Skeâ Øeef›eâÙee’’~ Dele: efJekeâuhe (d) 'the

process of combining multiple inputs from different

senses at once" mener Gòej nw~
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4. Which one is true, according to the passage?
(a) whether the human consciousness is

subjective or objective is largely philosophical.
(b) whether the human consciousness is

subjective or objective is largely biological.
(c) whether the human consciousness is

subjective or objective  is largely psychological.
(d) whether the human consciousness is

subjective or objective is largely scientific.
Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ heefjÛÚso kesâ Devegmeej,
'whether the human consciousness is subjective or

objective is largely philosophical' Skeâ melÙe (true) keâLeve
nw~ (Ùeeefve ‘ceeveJeerÙe Ûeslevee DeeJÙehejkeâ nw Ùee Jemleghejkeâ, Ùen DeefOekeâebMele:
oMe&veMeem$e hej DeeOeeefjle nw DeLeJee oeMe&efvekeâ Ùee leeefke&âkeâ nw) Dele:
efJekeâuhe (a) mener Gòej nw~

5. How can consciousness be slipped away?
(a) too much or too little connectivity between

neurons.
(b) no connectivity between neurons.
(c) too much connectivity between neurons.
(d) too little connectivity between neurons.

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ mveeÙegDeeW (neurons)
kesâ ceOÙe meJee&efOekeâ DeLeJee meyemes keâce mebÙeespekeâlee (connectivity)
mes DeLeJee kesâ keâejCe Ûeslevee (consciousness) mKeefuele (slip

away) nes mekeâleer nw~ Dele: efJekeâuhe (a) mener Gòej nw~

Passage
During the Victorian period men and women's roles

became more sharply defined than at any time in
history. In earlier centuries it had been usual for women
to work alongside husbands and brothers in the family
business. Living 'over the shops' made it easier for
women to help out by serving customers or keeping
accounts while also attending to their domestic duties.
As the 19th century progressed men increasingly
commuted to their place of work - the factory, shop or
office, wives, daughters and sisters were left at home all
day to oversee the domestic duties that were
increasingly carried out by servants. From the 1830s,
women started to  adopt the crinoline, a huge bell-
shaped skirt that made it virtually impossible to clean a
grate or sweep the stairs without tumbling over. The
two sexes now inhabited what Victorians thought of as
'separate spheres', only coming together at breakfast
and again at dinner.
1. During which period men and women's roles

became more sharply defined?
(a) Victorian period (b) Elizabethen period
(c) Edwardian period (d) Georgean period

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ jeveer efJekeäšesefjÙee kesâ
Meemevekeâeue (Victorian period) kesâ oewjeve Ùee meceÙe heg®<eeW
(men) SJeb ceefnueeDeeW (women's) keâer YetefcekeâeDeeW (roles) keâes
OÙeevehetJe&keâ (sharply) heefjYeeef<ele (define) efkeâÙee peelee Lee~ Dele:
efJekeâuhe (a) 'Victorian period' mener Gòej nw~

2. In which century men started commuting to their

place of work?

(a) 17th century (b) 18th century

(c) 19th century (d) 20th century

Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ 19JeeR Meleeyoer (19th

century) ceW heg®<eeW ves Deheves keâeÙe&mLeue (place of work) keâes
yeouevee (commute) ØeejbYe efkeâÙee~ Dele: efJekeâuhe (c) '19th

century' mener Gòej nw~

3. What constitutes the "separate spheres"?

(a) the two periods

(b) their workplaces

(c) the two centuries

(d) the two sexes

Gòej (d)

uesKeebMe he"ve kesâ Ghejbele %eele neslee nw efkeâ 'separate spheres'

keâe leelheÙe& nw- 'the two sexes' 'two sexes' Éeje 'separate

spheres' keâe mebIešve neslee nw~ Dele: efJekeâuhe (d) 'the two

sexes' mener Gòej nw~

4. Living ____________ made it easy for women to

help out by serving customers or keeping accounts

while also attending to their domestic duties.

(a) in the shops

(b) over the shops

(c) behind the shops

(d) ahead the shops

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ efjòeâ mLeeve ceW 'over

the shops' keâe ØeÙeesie GefÛele nw~ ogkeâeve ceW ceefnueeDeeW kesâ jnves mes
«eenkeâebs (customers) keâer meneÙelee nes peeleer nw leLee Ùes Deheves
Iejsuet GòejoeefÙelJeeW (duties) keâe Yeer efveJe&nve keâj uesleer nQ~ Dele:
efJekeâuhe (b) 'over the shops' mener Gòej nw~

5. What is Crinoline?

(a) a huge bell shaped shirt

(b) a huge bell shaped skirt

(c) a huge bell shaped hat

(d) a huge bell shaped earrings

Gòej (b)
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uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ 'Crinoline' Skeâ
efJeMeeue Iebšer kesâ Deekeâej keâe uenbiee Ùee IeeIeje (a huge bell

shaped skirt) neslee nw~ Dele: efJekeâuhe (b) 'a huge bell shaped

skirt' mener Gòej nw~

Passage
A knowledge of grammar is essential for good

speaking and writing, by which one's mind is judged.

Studying grammar means hard work: it must be learned

as a whole, with no part omitted, and it demands much

thought and patience. But, once acquired, it can give a

life-time's pleasure and profit. Its study requires no

physical hardship, no special room or expenses. If

people spent only their leisure time studying grammar

they could master it in one year. The author learned it in

less than a  year. As a private soldier earning sixpence a

day, he sat on his bed and studied. Unable to afford

candle or oil, he read in winter by firelight (when it was

his turn). If he could manage it thus, and with no

outside encouragement, then any youth, however poor

or  busy, could do the same.

1. Why should we learn grammar?

(a) To develop speaking skills

(b) To develop writing skills

(c) To have a mastery over language

(d) To acquire good speaking and writing skills

Gòej (d)

uesKeebMe cebs ÛeÛee& keâer ieF& nw efkeâ JÙeekeâjCe (Grammar) meerKevee
FmeefueS DeeJeMÙekeâ nw leeefkeâ DeÛÚer yeeleÛeerle Ùee Jeelee&ueehe leLee
uesKeve keâewMeue ceW o#elee Øeehle keâer pee mekesâ~ Dele: efJekeâuhe (d) mener
Gòej nw~

2. How does the world judge a man's mind?

(a) By his dress

(b) By his manners

(c) By his appearance

(d) By his speech and writing

Gòej (d)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ efJeMJe efkeâmeer JÙeefòeâ kesâ efJeÛeejeW DeLeJee
efÛebleve keâe Deekeâueve Gmekesâ Yee<eCe (Speech) SJeb uesKeve (writing)

mes keâjlee nw~ Dele: efJekeâuhe (d) mener Gòej nw~

3. How long would it take to gain mastery over

grammar?

(a) One year (b) Six months

(c) Two years (d) Ten months

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ JÙeekeâjCe ceW o#elee Ùee efJeMes<e%elee
Øeehle keâjves kesâ efueS Skeâ Je<e& (One year) keâe meceÙe heÙee&hle neslee
nw~ Dele: efJekeâuhe (a) mener Gòej nw~

4. What is the occupation of the writer?
(a) Teacher (b) Soldier
(c) Artist (d) Clerk

Gòej (b)

uesKeebMe cebs ÛeÛee& keâer ieF& nw efkeâ uesKekeâ keâe JÙeJemeeÙe mewefvekeâ Lee~
Dele: efJekeâuhe (b) mener Gòej nw~

5. The learning of grammar should be
(a) Patient, thoughtful and holistic
(b) Thoughtful, patient and piecemeal
(c) Holistic, thoughtful and rapid
(d) Thoughtful, rapid and piecemeal

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ JÙeekeâjCe Jener JÙeefòeâ meerKe mekeâlee nw
pees efJeÛeejhetCe& (Thoughtful), OewÙe&Meerue (Patient) SJeb hetCe&leeJeeoer
(Holistic) nes~ Dele: efJekeâuhe (a) mener Gòej nw~

Passage
Namita is from the state of Kerala. She has come to

Dubai to serve as a governess for the only child of the
Nairs. The Nairs are nice and gentle and Namita has no
cause to complain. One day she overhears something
that makes her jittery. Mr. Nair is not employed in an
American company as she has been told. The nature of
his business is illegal. She is shocked and wants to go
back to her home town to her own people.

Gopal is from a very poor family. His family owns a
very small piece of land that can hardly meet their food
requirement. One day, Gopal gets a nice offer to work in
the Emirates with a construction contractor. In order to
meet the expenses on travelling, the family decides to
sell their own land and send Gopal to the foreign
country, to make money. On arrival, the contractor
confiscates Gopal's passport and gives him a small
place to live in with ten others like him. Gopal has little
idea what he must do.
1. Which word from the ones given below, best

describes Namita's relationship with her
employers in the beginning?
(a) Cordial (b) Friendly
(c) Sympathetic (d) Complaining

Gòej (a)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ veefcelee keâe Deheves
efveÙeesòeâe (Employer) kesâ Øeefle JÙeJenej neefo&keâ (Cordial) Lee~
Dele: efJekeâuhe (a) mener Gòej nw~

2. What does the phrase, 'makes her jittery' imply?
(a) Sadness (b) Anger
(c) Trauma (d) Anxiety

Gòej (d)

uesKeebMe ceW ØeÙegòeâ Phrase 'makes her jittery' keâe leelheÙe& nw-
'anxiety' Ùeeefve Ieyejenš, efÛeblee~ Dele: efJekeâuhe (d) mener Gòej nw~
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3. Namita and Gopal are in a similar situation,
because they

(a) love their families
(b) are happy with their situations
(c) are from impoverished families

(d) are stranded in a foreign country
Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ veefcelee leLee ieesheeue keâer
efmLeefleÙeeW kesâ ceOÙe Skeâ meceevelee Ùen nw efkeâ Jes oesveesb ner Deheves ie=n
peveheoeW mes efJeosMe ceW peekeâj hebâme ieS Les~ Dele: efJekeâuhe (d) mener
Gòej nw~

4. Namita's situation is better than that of Gopal,

because she
(a) has a well behaved employer
(b) knows what she wants to do

(c) loves the new place and the child
(d) now knows about her employer

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ efJeosMe ceW veefcelee keâer
heefjefmLeefle, ieesheeue keâer heefjefmLeefle mes yesnlej Leer keäÙeeWefkeâ veefcelee ÂÌ{
Leer efkeâ Gmes Deheves Iej DeheveeW kesâ yeerÛe Jeeheme peevee nw peyeefkeâ ieesheeue
kesâ meeLe Ssmee veneR Lee~ Gmes kegâÚ Yeer mecePe veneR Dee jne Lee efkeâ
Jen keäÙee keâjs~ Dele: efJekeâuhe (b) 'knows what she wants to
do' mener Gòej nw~

5. The conclusion that can be drawn from both
situations is that people should

(a) stay in their own countries and villages
(b) feel contented and satisfied with their lot
(c) verify details before accepting any job

(d) not travel to these regions of the world
Gòej (c)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ uesKeebMe cebs JeefCe&le veefcelee
SJeb ieesheeue kesâ Â°ebleebs mes Ùen efve<keâ<e& efvekeâeuee pee mekeâlee nw efkeâ
JÙeefòeâ keâes efkeâmeer Yeer veewkeâjer mJeerkeâej keâjves mes hetJe& Gmemes mebyebefOele
meYeer efJeJejCeeW (Details) keâer peebÛe DeLeJee melÙeeheve (Verification)

keâjvee ÛeeefnS DevÙeLee GvnW veefcelee SJeb ieesheeue keâer-meer heefjefmLeefleÙeeW
keâe meecevee keâjvee heÌ[ mekeâlee nw~ Dele: efJekeâuhe (c) mener Gòej nw~

Passage
Two men were once walking along a forest path,

talking of courage and loyalty. The bigger one, who had
a gun, was boasting of his own bravery and fidelity,
when suddenly a large bear came from behind a rock

close in front of them, and stood in their way growling
angrily. The boaster fled to the nearest tree, dropped
his gun,  and climbed to a safe place without thinking of

his poor friend. The latter flung himself upon his face as
though dead. The bear smelt his body, turned him over,
licked his face, and supposing him to be dead, went on

its way leaving him unhurt.

The other man came down from the tree, and going
to his friend said "Well, what secrets did he whisper so
quietly in your ear?". To which the little man who owed
his life to his own presence of mind and not to be
boasted bravery and fidelity of his companion,
replied,"why, he said, 'put not your trust in braggarts,'
and I shall take his advice."
1. What were the two men talking about while

walking along the forest path?
(a) About their wives and children.
(b) About money and fame.
(c) About friendship and enjoyment.
(d) About courage and loyalty.

Gòej (d)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ uebyes SJeb ef"ieves (Little) JÙeefòeâ
pebieue kesâ ceeie& mes iegpejles ngS JÙeefòeâ kesâ meenme SJeb efve‰e meÂMe
iegCeeW kesâ yeejs ceW ÛeÛee& keâj jns Les~ Dele: efJekeâuhe (d) mener Gòej nw~

2. What is the meaning of the word "fidelity"?
(a) Muscle (b) Strength
(c) Faithfulness (d) Courage

Gòej (c)

uesKeebMe ceW JeefCe&le Meyo 'fidelity' keâe leelheÙe& nw- 'Faithfulness'
Ùeeefve mJeeceerYeefòeâ, efve‰e, F&ceeveoejer~

3. After seeing the bear, what happened to the
boaster?
(a) He fled home.
(b) He hid himself behind the rock.
(c) He hid himself behind a shed.
(d) He fled and climbed up the nearest tree.

Gòej (d)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ jerÚ keâes osKeves kesâ heMÛeele MesKeeryeepe
(Boaster) Yeeieles ngS vepeoerkeâ kesâ Skeâ Je=#e hej ÛeÌ{ ieÙee Deewj
megjef#ele mLeeve hej hengbÛe ieÙee~ Dele: efJekeâuhe (d) mener Gòej nw~

4. What made the bear go away after examining the
man?
(a) The bear thought the man was dead.
(b) The bear could not stand the bad odour of the

man.
(c) The bear did not want to eat the man.
(d) The bear heard a noise and was scared.

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ ef"ievee (Little) JÙeefòeâ ves peye jerÚ
mes škeâje keâj efieje, lees jerÚ Gmekesâ heeme Deekeâj, metbIekeâj Gmes
ce=leØeeÙe (Dead) ceevekeâj Jeneb mes Ûeuee ieÙee~ Dele: efJekeâuhe (a)
mener Gòej nw~

5. What saved the little man?
(a) The aid from the villagers
(b) His friend's bravery
(c) His own presence of mind
(d) His own courage

Gòej (c)
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uesKeebMe ceW ÛeÛee& keâer ieF& efkeâ ef"ieves JÙeefòeâ ves Deheveer ØelÙeglhevveceefle
(Presence of mind) Éeje jerÚ mes Deheves peerJeve keâer j#ee keâer~
Dele: efJekeâuhe (c) mener Gòej nw~

Passage
Acharya Jagadish Chandra Bose, one of the

greatest of modern scientists, graduated from St.
Xavier's College, Kolkata. He then obtained Tripos of
Cambridge University and joined the Presidency
College, Kolkata, as Professor of Physics. He was a
pioneer in the discovery of the wireless and radio and
the Microwave. He made remarkable contribution to the
science of Botany by proving with the help of an
instrument of his own invention that not only do trees
and plants have life, but feel pleasure and pain as we
do. He was perhaps the first scientist to suggest the
possibility of gathering and utilising energy from solar
rays. Last but not least was the Bose Institute which he
founded in 1917. It has now become a world-famous
Research Laboratory doing yeoman's service to
various branches of science.
1. Acharya Jagadish Chandra Bose, one of the

greatest of modern scientists, graduated from
which college?
(a) St. Xavier's College, Kolkata
(b) Cambridge University
(c) Presidency College, Kolkata
(d) Bose Institute

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ meyemes ceneve DeeOegefvekeâ Jew%eeefvekeâeW ceW
mes Skeâ DeeÛeeÙe& peieoerMe Ûevõ yeesme ves mveelekeâ mlej keâer efMe#ee meWš
]pesefJeÙej keâe@uespe, keâesuekeâelee mes «enCe keâer~ Dele: efJekeâuhe (a) mener
Gòej nw~

2. What is meant by yeoman service?
(a) Minimal (b) Invaluable
(c) Discreet (d) Sporadic

Gòej (b)

uesKeebMe ceW JeefCe&le Idiom 'yeoman service' keâe leelheÙe& nw-
'Invaluable' Ùeeefve ‘DecetuÙe’~ Dele: efJekeâuhe (b) mener Gòej nw~

3. Acharya Jagadish Chandra Bose was  a pioneer
in the discovery of the wireless, radio and the
_____.
(a) Toaster (b) Oven
(c) Microwave (d) Radio

Gòej (c)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ DeeÛeeÙe& peieoerMe Ûevõ yeesme yesleej
mebØe s<eCe (Wireless), jsef[Ùees (Radio) leLee ceeF›eâesJe sJe
(Microwave) keâer Keespe kesâ DeiegDee (Pioneer) Les~ Dele: efjòeâ
mLeeve ceW Meyo 'microwave' keâe ØeÙeesie GefÛele nw~ Dele: efJekeâuhe
(c) mener Gòej nw~

4. Jagadish Chandra Bose made remarkable
contribution to the science of Botany by providing

with the help of an instrument of his own invention
that trees and plants have not only life, but _____.
(a) feel joyous and excited as we do.

(b) feel happy and sad as we do.
(c) feel excitement and pain as we do.
(d) feel pleasure and pain as we do.

Gòej (d)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ DeeÛeeÙe& peieoerMe Ûevõ yeesme ves
Jevemheefle efJe%eeve kesâ #es$e ceW GuuesKeveerÙe Ùeesieoeve osles ngS mJeÙeb
Éeje DeefJe<ke=âle Ùeb$e mes Ùen efmeæ keâj efoÙee efkeâ ve kesâJeue ceeveJe kesâ
meceeve ner Je=#eeW SJeb heeoheeW ceW peerJeve (Life) neslee nw yeefukeâ Jes Yeer
nceejs meceeve megKe SJeb og:Ke keâer DevegYetefle (Feel) keâjles nQ~ Dele:
efjòeâ mLeeve ceW 'feel pleasure and pain as we do' keâe ØeÙeesie
mener Gòej nw~

5. What is meant by a Tripos from Cambridge
University?
(a) A scholarship (b) A trophy

(c) A degree (d) A medallion
Gòej (c)

uesKeebMe ceW Meyo 'Tripos' keâer ÛeÛee& keâer ieF& nw efkeâ efpemekeâe leelheÙe&
nw- 'a degree' Skeâ GheeefOe~ Dele: efJekeâuhe (c) mener Gòej nw~

Passage
Man's attitude to various animals changed many

times in the course of centuries. From indifference or
practicality, he went on to adoration and deification, and
then to hatred. Ancient Egyptians, for example, highly
appreciated the cat's ability to destroy rodents. The cat
was much superior in this respect to the grass-snakes
and weasels they had kept in their houses before. These
proved unable to cope with hordes of rats which invaded
Egypt from Asia. So the cat, a very useful animal, was
ranked as a sacred animal and one of the most important
animals, too. The goddess of the Moon, fertility and
child-birth, Bast herself was portrayed by the Egyptians
as a woman with a cat's head.

Sumptuous temples were built to this goddess,
where cats were kept in luxury and fed the choicest of
foods. They had their own priests and votaries, more
numerous as a matter of fact than any other sacred animal
could boast. According to the Greek historian
Herodotus, the festival in the city of Bubastis, which had
a temple dedicated to cats, was attended by as many as
700 thousand, who brought their offerings to the
goddess in the shape of figurines of her made of gold,
silver and bronze and adorned with precious stones.
1. Egyptians appreciated the cat's ability to destroy

______.
(a) snakes (b) weasels
(c) houses (d) rodents

Gòej (d)
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uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ ØeeÛeerve efceœeJeemeer ke=bâlekeâeW (Rodents)

keâes ve° keâjves keâer efyeefuueÙeeW keâer ÙeesiÙelee kesâ Deefle ØeMebmekeâ Les~  Dele:
efjòeâ mLeeve ceW Meyo 'rodents' (ke=bâlekeâ) keâe ØeÙeesie mener Gòej nw~

2. Hordes of rats invaded Egypt. They came from
______.
(a) Europe (b) Asia
(c) Asia Minor (d) Africa

Gòej (b)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ ØeeÛeervekeâeueerve efceœe hej SefMeÙee mes
DeeS ÛetneW keâer heâewpe (Hordes of rats) ves Dee›eâceCe keâj efoÙee~
Dele: efjòeâ mLeeve ceW Meyo 'Asia' keâe ØeÙeesie mener Gòej nw~

3. The cat was considered to be a _______.
(a) sacred animal (b) goddess
(c) symbol of peace (d) symbol of fertility

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ ØeeÛeerve efceœeJeeefmeÙeeW kesâ efueS
efyeefuueÙeeb Deefle GheÙeesieer ØeeCeer Ùee peerJe LeeR efpeme keâejCe Ùes ‘heefJe$e
peerJe’ kesâ meceeve meceeÂle (Ranked) LeeR~  Dele: efjòeâ mLeeve ceW
'sacred animal' keâe ØeÙeesie mener Gòej nw~

4. What is the opposite of the word 'votaries'?
(a) Enthusiast (b) Critic
(c) Adherent (d) Fanatic

Gòej (b)

uesKeebMe ceW JeefCe&le Meyo 'Votary' (meceLe&keâ, DevegÙeeÙeer, ce"Jeemeer)
keâe efJehejerleeLe&keâ Meyo 'Critic' (DeeueesÛekeâ, efÚõevJes<eer, meceer#ekeâ,
meceeueesÛekeâ) nw~ DevÙe efJeueesce Meyo nQ- Apostate, Renegade.

5. The word 'deification' in the passage means
_____.
(a) highly valuable      (b) take pride
(c) act of treating as God    (d) devotees

Gòej (c)

uesKeebMe ceW JeefCe&le Meyo 'deification' keâe leelheÙe& nw- 'act of
treating as God'; the act of deifying; excessive
admiration of or devotion to a person; idolization;

adulation; deference; veneration; Ùeeefve ‘osJelJeejesheCe’~

Passage
In the world today we make health an end in itself. We

have forgotten that health really means to enable a person
to do his work and do it well. A lot of modern medicine, and
this includes many patients as well as many physicians,
pay very little attention to health but very much attention
to those who imagine they are ill. Our great concern with
health is shown by the medical columns in newspapers,
the health articles in popular magazines and the popularity
of television programmes and all those books on medicine.
We talk about health all the time. Yet for the most part the
only result is more people with imaginary illness. A healthy
man should not be wasting time talking about health : he
should be using health for work.

1. Modern medicine is primarily concerned with

(a) promotion of good health

(b) people suffering from imaginary illness

(c) people suffering from real illness

(d) increased efficiency in work

Gòej (b)

uesKeebMe ceW ÛeÛee& keâer ieF& efkeâ DeefOekeâebMe DeeOegefvekeâ Deew<eefOe cegKÙeleÙee
keâeuheefvekeâ (ceveie{ble) yeerceeefjÙeeW mes «emle ueesieeW mes mebyebefOele nw~ Dele:
efJekeâuhe (b) mener Gòej nw~

2. The passage suggests that

(a) health is an end in itself

(b) health is a blessing

(c) health is only a means to an end

(d) we should not talk about health

Gòej (d)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ nceW nj meceÙe mJeemLÙe
hej ÛeÛee& veneR keâjveer ÛeeefnS~ Skeâ mJemLe JÙeefòeâ keâes ncesMee mJeemLÙe
hej ÛeÛee& keâj Dehevee meceÙe ve° veneR keâjvee ÛeeefnS yeefukeâ Deheves
mJeemLÙe keâe GheÙeesie Deheves keâeÙe& keâes mebhevve keâjves ceW keâjvee ÛeeefnS~
Dele: efJekeâuhe (d) mener Gòej nw~

3. Talking about health all the time makes people

(a) always suffer from imaginary illness

(b) sometimes suffer from imaginary illness

(c) rarely suffer from imaginary illness

(d) often suffer from imaginary illness

Gòej (d)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ nj meceÙe mJeemLÙe hej ÛeÛee& keâjves
Jeeuee JÙeefòeâ ØeeÙe: keâeuheefvekeâ yeerceeefjÙeeW/jesieeW mes «emle nes peelee nw~
Dele: efJekeâuhe (d) mener Gòej nw~

4. The passage tells us

(a) how medicine should be manufactured

(b) what a healthy man should or should not do

(c) what television programmes should be about

(d) how best to imagine illness

Gòej (b)

uesKeebMe he"ve kesâ Ghejeble %eele neslee nw efkeâ Skeâ mJemLe JÙeefòeâ keâes keäÙee
keâjvee ÛeeefnS Deewj keäÙee veneR~ Dele: efJekeâuhe (b) mener Gòej nw~

5. A healthy man should be concerned with

(a) his work which good health makes possible

(b) looking after his health

(c) his health which makes work possible

(d) talking about health

Gòej (a)

uesKeebMe ceW ÛeÛee& keâer ieF& nw efkeâ Skeâ mJemLe JÙeefòeâ keâes Deheves keâeÙe& hej OÙeeve
osvee ÛeeefnS pees DeÛÚs mJeemLÙe mes mebYeJe neslee nw DeLee&le Skeâ mJemLe
JÙeefòeâ keâe cegKÙe ue#Ùe Gmekeâe keâeÙe& (Work) nesvee ÛeeefnS ve efkeâ
mJeemLÙe~ mJemLe JÙeefòeâ keâes ‘mJeemLÙe’ (Health) veecekeâ efJe<eÙe hej ner nj
meceÙe ÛeÛee& veneR keâjveer ÛeeefnS~ Dele: efJekeâuhe (a) mener Gòej nw~




